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1 -1 0 0 0
1 -2 10 1

A = b =
mw 01 21 1
00 01 0

badmat(cnd) := if (cnd + 0.001 = cnd, "Solution will be inaccurate" ,"OK" )

singmat(cnd) := if (cnd + 0.25 = cnd, "Matrix is singular to machine precision" ,badmat(cnd))

end := cond2(A) = 17.632 |

|singmat(cnd) ="OK" |

-3

-3

sol := Isolve(A,b) = 5

0
JORIGIN = 1 =1 1-100
A . A 1 210
437 o1 21
00 -1 1

cnd ;= cond2(A) = 4.086 X 1016

hAAAAA.

|singmat(cnd) = "Matrix is singular to machine precision”

Page 1 of 4



C:\mathcadw\\x15.xmcd Leon van Dommelen

Function Comparison

f(x) := cos(x) — x2

f(0) =1 f(1) =-0.46 OK, different sign.

Xy = root(f(x),x,0,1) = 0.824
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